DN Jdefender

TRIFLES MAKE PERFECTION -

UrPOBOW CTOJ1. PYKOBOACTBO NMOJIb30OBATENA

WHITE  BENbIV



D defender - &

TRIFLES MAKE PERFECTION

CONTENTS:
COOEPXAHMWE:

1. Scope of delivery
Komnnekm nocmasku 3

2. Assembly order
lMopsdok cbopku 7

Attention!
BaxkHo!

1) Before assembly, check that all parts are included.
Meped c6opkoli nposepbme Hasnu4ue scex demaeli.

2) Images are for general information purposes only and may vary.

from the actual appearance of the parts.

U3o06paxeHus npedcmassieHsl 015 obujeli UHOpMayuu u Mo2ym omau4amscs
om peasibHo20 8HewHe20 suda demarel.

3) Do not use the table until all bolts are tightened.
He ucnose3ytime cmosn do mex nop, noka He 6yOym 3amsHymel ece 60/1Mmel.

4) Check the bolts for tightness every 6 months.
Paz 8 6 mecsiyes nposepstime 3amsxky 60/1mos.

5) Don't put your feet on the table.
He scmasatime Ha cmosn Hozamu.

6) Do not wash the table with water, use dry dust cleaning

or wipe with a damp cloth.

He molime cmos 8000d, ucnosb3ylime Cyxyro 04UCMKY OM NblU UAU hpomupatime
snaxHol cangemxod.



DN defender

TRIFLES MAKE PERFECTION

1. SCOPE OF DELIVERY
KOMIIJIEKT NMOCTABKN

6 GAMING
SERIES
* *

Part 1-2 pcs

Jemans 1 -2 wm

Part 2 - 1 piece

JAemane 2 - T wm

Part 3 - 1 piece

Jemans 3 - Twm

Part 4 - 1 piece

Jemans 4 - 1T wm

Part 5 - 1pcs.

Jemans 5 - 1T wm




D defender - &

TRIFLES MAKE PERFECTION

Part 6 - 2 pcs.

Jemans 6 - 2 wm

Part 7 - 1 piece

Jemane 7 - 1T wm

Part 8 - 1 piece

Jemans 8 - Twm

Part 9 - 1 piece

Jemans 9- 1 wm

Part A M6x16x1 - 19 pcs.
@ Jemans A M6x@16x1 - 19 wm

Part B M6x16 - 12 pcs.
(©)mm

Jemans B M6x16 - 12wm




D defender

6 GAMING
SERIES
oV

[ S—

Part C - 1 piece

AJemane C - 1Twm

Part D M6x35 - 1 piece
Jemane D M6x35 - 1 wm

(€)mm

Part E M6x13 - 4 pcs.
Jemans E M6x13 - 4 wm

Part F - 4 pcs.

Jlemane F - 4 wm

S

D))

Part G M6x18 - 2 pcs.
Jemans G M6x18 - 2 wm




hdefender - &

TRIFLES MAKE PERFECTION

2. ASSEMBLY ORDER
rOPAAOK CEOPKU

LL>

ol - -Qom)

ot - -Qom)
ot - -Qom)
©)

of -




D defender

00
*Ve

GAMING

SERIES

@@

s 0o o
I




hdefender - &




hdefender | - &




hdefender - &

10



hdefender - Qs




-
O:
=
O:
O:
O:
:




hdefender - &

13



D defender - &

TRIFLES MAKE PERFECTION

WARRANTY SERVICE IS NOT EFFECTED IN THE FOLLOWING SITUATIONS:

1. Expiration of the warranty period (warranty period is settled from the date of sale to the end user).
2. Incorrect filling in of the warranty card.

3. Incorrect plug in to power grid.

4. Breach to safety of guarantee seals, fixing joint assemblies of the case; presence

of elements of opening on outside and inside parts of the product.

5. If the product designed for household use was used for professional purposes.

6. Damage due to penetration of foreign objects, substances, liquids or insects inside

the product.

7. Damage due to breach to normal work of supply network — 220V +/- 10%.

(except of automatic voltage regulators)

8. If the product was opened and repaired by a person unauthorized for that by the dealer.
9. Incorrect operation or careless handling.

10. Damage to the product due to natural disasters.

11. Presence of elements indicating mechanical damage (fall, hit).

12. Disability of connected devices of other producers.

FAPAHTUIAHBIA PEMOHT HE MPON3BOAUTCA B CNIEAYIOLLMX CNYYAAX:

1. VicteueHue rapaHTUitHOro cpoka (ycTaHaBAMBaETCA CO AHs NPOAAXMN ToBapa NoTpebuTento).
2. HenpaBu/bHOE 3amnoiHeHre rapaHTMHOro TasoHa.

3. HenpaBuabHOe NOAKAIOUEHME B 31E€KTPOCETb.

4. HapyLueHue coxpaHHOCTU rapaHTURHbIX MIOMG 1 KpeneXHbIX COeAUHEHWIA Kopryca,
Hanu4yune CnefoB BCKPbLITUA Ha BHELWWHNX U BHYTPEHHMX MOBEPXHOCTAX TOBapa.

5. Annapatypa, npejgHasHayeHHas Ans paboTbl B ObITOBbIX YCNOBUAX, MCNONb30BaNach

B NPOpeCccMoHanbHbIX Lensx.

6. nOBpe)KAeHMR BbI3BaHbl NONagaHnem BHYTPb 1U34ena NOCTOPOHHUX NpeaMeToB, BeLlecTs,
KUAKOCTEW, HACEKOMBbIX.

7. Hapywenwe B paboTe nutatowyeii anektpocett — 220 B +10%

(Kkpome CTabuNM3aTOPOB HaNpPAXKeHNA).

8. BCKpbITVE M PEMOHT TOBapa NpousseaeHbl IMLIOM, He YNOJHOMOY€EHHbIM

Ha TO GUPMOW-NPOAABLIOM.

9. HenpaBuabHas skcnayataums uam HebpexHoe obpatlleHue.

10. MoBpexaeHve nsgenus B pesyabtate CTUXWAHBLIX 6eACTBUIA.

11. Hanuune cnepoB MexaHUUYeckoro noBpexaenvs (nagexve, yaap).

12. HepaboToCnocobHOCTL NOAK/IHOYAEMbIX YCTPOWCTB APYTUX MPOU3BOAUTENEN.

14



D defender -

TRIFLES MAKE PERFECTION

Manufacturer: Hebei Uget Trading Co., LTD

Address: West of Dongduan Village, Dongduan Town, Bazhou City, Langfang City, Hebei Province,
China. Made in China.

IMPORTER in EU / Importer / Dovozce / Dovozca / Maahantuoja / Importor / Importatorul /
Importeur: Defender Technology 0U, Betooni str 11, 11415, Tallinn, Estonia.
www.defender-global.com

W3roTtosutens: X363 HKOogxet Tpengunr Ko., 1T/,

Agppec: Bect o¢ [lyHryaHb Bunnagx, AyHayaHb TayH, bauxoy Cutu, NlaHdan Cutu, X363
MpoBuHc, Kutaii. Caenaro B Kutae.

Mmnoptep B PO / opranusaums, ynonHOMOUYeHHas Ha NPUHATYE NPeTeH3unii oT noTpebuteneil:
000 «T/, Komnanus [ledergep» Agpec: 127030 r. MockBa, BH.TEP.T. MyHULMMaAbHbIV OKPYT
TBepckoi, yn. Cywéckas, 4. 27, cTpoeHwe 2, 3Tax 3, nomeLyerue lll, komHaTta 3, odpuc 63.
www.defender.ru

Bripo6Huk: Xebeln tOgxeT Tperauntr Ko., ITA.

Appeca: Bect od AyHryaHb Binnagx, lyHayaHb TayH, bawkoy Citi, Jlandar Citi, Xe6eit MposiHc,
Kuraii.

IMnoptep B Ykpaini: TOB «BupobHuue Mignpuemcrso “Mpomucnosi Cuctemm»,

appeca: Byn. Kupuniscbka, 40A, m. Kuis, 04080, YkpaiHa.

www.defender-global.com

MpowusBoguTens ocTaBaseT 3a CO60I NPaBO U3MEHEHWA KOMMAEKTALMK, TEXHUYECKUX
XapaKTepuCTUK 1 BHELLHero Buaa ToBapa.
Mpu HaAMUMU MexaHUYeCcK1X MOBPEXAEHUIA NPEeTEeH3MK MO TOBapy He MPUHUMAOTCSA.

[apaHTUIHBIA cpok: 6 MecaueB. FapaHTiiHWIA TepMiH: 6 micauis. Keningeme 6 aii.

Cpok cnyx6bl 6 Mecsues. TepMiH cnyx6u 6 micauis. KbiameT mep3imi 6 aii.
Cpok rogHoctut: 5 net. TepmiH npuaaTtHocTi 5 pokis. XXapamabinbik Mep3imi 5 Xbia.

XpaHuTb B CyXxOM NpoBeTpMBaeMOM MoMeLLeHWy Npu Temnepatype oT -5 go +40 rpagycos
Llenbcus 1 OTHOCKUTENBHOW BAAXHOCTU He 6onee 80%.

36epiratvt B iHTepBani TemnepaTyp Big -5 Ao +40 rpagycis Lienbcis Ta BigHOCHII BosorocTi
He 6inblue 80%.

,U,aTa n3rotosaeHusa (MQCHLI,, I'O,Cl,) W HOMEp MapTuUK yKasaHbl Ha yrnakoBKe.

EAL

15



